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Study the example problem showing how to write and solve
an equation. Then solve problems 1-7.

Example

Isabella has filled 3 album pages with photos. Each page has

the same number of photos. Isabella has 24 photos. Write

and solve an equation to find how many photos are on one

album page.

Choose a variable to represent the p
number of photos on one page.

Write an expression to describe the 3p
total number of photas on the pages.

Write an equation to compare the 3p=24
expression and the number of photos
Isabella has.

Draw a bar model to represent | 24

' You multiply 3

the equation. p P

P

by 8 tc get 24.

There are 8 photos on one
album page.

What does the variable p represent in the example
problem?

What is the solution to the equation 3p = 247

Then Isabella filled 3 more pages with 36 photos which

she evenly divided between the pages. Is the number of

photos on one of these pages more or less than the
number on one page in the example problem? Explain.
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Solve,

Alberto is saving money to buy a pair of shoes that cost
$58. He has already saved $32. He still needs to save
d dollars.

a. Wirite an equation so that one side of the equation
represents the cost of the shoes.

b. Explain how to solve your equation to find how
much more money Alberto needs to save. How
much more does he need to save?

The bar model illustrates a division equation. What is the
equation? Explain how you know.

I
[ s 1

& 8 8 8 &

In the equation 10n = 120, is n = 10?7 How do you know?

£ Write an equation that has a solution of 7, includes a
variable, and uses multiplication. Write a real-world
problem that you could represent with your equation.
Show how you know that 7 is the solution.

Lesson 2 Square Roots and Cube Roots
% s
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Study the example problem showing how to find a cube
root. Then solve problems 1-8.

Example

Each edge of a cube is x centimeters long. The volume of the
cube is 343 cm®, What is the length of each edge of the cube?

Use the formula for the volume of a cube.

=V Write the formula.
xX* =343 - Substitute 343 for V.
= 343 Find the cube root of 343,

X

x=7 Simplify. Volume = 343 cm?®

Each edge of the cube is 7 centimeters long.

1 What is the relationship of the volume of the cube to its
edge length?

P2 What is the relationship of the edge length of the cube
to its volume?

\facabuﬁary

| The volume of a cube is 8 ft*. What is the length of each
edge of the cube?

Explain the difference between a number that is a cube
and a number that is a cube root.
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Solve,

You can use prime factorization to find a cube root,

a. Complete the prime factorization of 64.

64

/\D
2 VAN
O 0O 0

VAN VAN
HEEEEENEEEE

b. Show the prime factors as 3 equal groups of 2 factors.

( ) H ) ) ’ )
c. Whatis \3/@?

Is 48 a perfect cube? Explain your reasoning.

Explain how a cube root is different from a square root.

The volume of Cube A is 216 cubic inches. The length of each edge in Cube B is 2 inches longer

than the length of each edge in Cube A. How much greater is the volume of Cube B than the

volume of Cube A?

Show your work.

Solution:

. 16 Lesson 2 Square Roots and Cube Roots
A M
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Study the example problem showing how to use square
roots and cube roots to solve word problems. Then solve
problems 1-6.

Example

Markus walked halfway around a square park that has an area
of 90,000 square meters. How many meters did Markus walk?

Use the formula for the area of a square to find the length of
one side. Markus walked halfway around, so find the total

length of two sides of the park to find the distance he walked.

s£=A Write the formula.
s =190,000 Substitute 90,000 for A.
$=1/90,000 Find the square root of 90,000.
s =300 The length of each side is 300 m,
The length of 2 sides = 300+ 2 = 600

Markus walked 600 meters.

A smaller square park has an area of 3,600 square
meters. What is the length of one side of the park?

When completely full, a cube-shaped container will hold
8,000 cubic centimeters of water. What is the length of
an edge of the container?

A planter in the shape of a cube has a volume of
1,000 in.2. is the area of the base of the cube greater than
or less than 1 square foot? Explain.

TR .
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Solve.

The distance d in feet that a dropped object falls in
t seconds is given by the equation d -+ 16 = . How long
does it take a dropped object to fall 64 feet?

Show your work.

Lolution:

Use 9 of these cubes to make a rectangular prism. What
is the volume of the rectangular prism?

Show your work.

Solution:

The area of the top face of a cube is 9 square centimeters.

|| The diagram shows the dimensions of Taylor's deck. The
area of the deck is 233 square feet. Taylor is going to put
a railing along the longest edge. How many feet of
railing will she need?

Show your work.

Solution:

8ft

8ft

x+ 8

g
N

Lesson 2 Square Roots and Cube Roots
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! The formula for the surface area of a cube is § = 6x%,
where x is the length of one side. Find the length of the
side of a cube with a surface area of 150 square inches.

A 5inches C 30inches
B 25inches DB 900 inches

Jack chose C as the correct answer. How did he get
that answer?

How doyou flncf ﬂ,e :' |
Vaiue o‘F xi?

Choose Yes or No to tell whether the number is a
perfect cube.

a. 27 D Yes D No
b. 100 l:l Yes r_—l No
. 125 D Yes D No
d. 1,000 D Yes D No

: Rem ember ﬂ:a‘l‘ a
perfect cube is ‘f‘he
product of three
equal factors

The formula for the volume of a square pyramid is

V = (b%h) + 3, where b is the length of one side of the
square base and h is the height of the pyramid. Find the
length of a side of the base of a square pyramid that has
a height of 3 inches and a volume of 25 cubic inches.

Show your work.

Solution:

Whatis3 3

@Curricubum Associates, LLC  Copying is not permitted.
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Solve.

The area of a square is a perfect square between 100 and
250 square centimeters. Which could be the area of the

square? Select all that apply.
A 102 square centimeters
B 121 square centimeters
C 125 square centimeters
D 144 square centimeters
E 225 square centimeters
F 240 sguare centimeters

Remember fhafo |
;aerfec'i* gquare is the .
pmduc‘!‘ o‘F two equal

The base of a cube is shown. The area of the base is

%ft‘. What is the volume of the cube?

Wha’!‘ is fhe s‘quare \
roo‘l’ofﬂ-:e - jﬂ-'f-i--'“ '
numerator of 4?
. Whatis the square
roa’f“o'F ‘t'he -
. .:_le_norm_r_\_a‘for? S

X
X
Show your work.
] Solution;

Lesson 2 Square Roots and Cube Roots
5% e
} e
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(%m%&@ag%g'é%: How can you use an equation to \\
represent a proportional relationship?

Study the example showing how to write equations for
proportional relationships. Then solve probiems 1-8.

Example

2 cups of water. Represent this relationship using a table and an

Kata is making pizza dough., For every 4 cups of flour, she needs

il

You can also use an equation, The ratio of flour to water is

ot

so the constant of proportionality is —;1)“—, or2.

equation.
The table represents this 5 c171a
proportional relationship. All of 15 251 3 {35} 4
the ratios are equivalent to«g’- = %—

2

T

amount  constant of amount of
of flour — proportionality water
f = 2 . w  equation:f= 2w

S e B,

. What does the constant of proportionality represent in
terms of the problem?

ottt

2 Use the equation in the example to find the number of
cups of water you need if you have 12 cups of flour.

For a different pizza dough recipe, the equation f = 2.5w
represents the number of cups of flour, £, that you need
for w cups of water. What is the constant of
proportionality? Explain what it means in this context.

- proportionality
| unitrateina
| proportional .

‘Vocabulary

constantof
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Solve,

} Basir buys 4 small drinks for $6. Write an equation to
represent the cost, ¢, for d small drinks.

A horse ran 800 meters in 40 seconds, 1,200 meters in
60 seconds, and 480 meters in 24 seconds. s this a
proportional relationship? If so, what is the constant

of proportionality? What does it represent? Write an
equation to represent the distance d, in meters, that the
horse runs in t seconds.

The equation ¢ = 64w represents the cost ¢ for
w pounds of walnuts. Does a value of 2.5 for w make
sense in this situation? Explain your reasoning.

Lina and Michele studied the data in the table. They each
wrote an equation to represent the relationship between
the number of miles and the number of hours ridden by
a bicyclist.

Lina's equation: m = 9h

Michele's equation: h = Jg—m

The teacher said that both equations were correct.
Explain why.

Zach's car travels 21 miles on 1 gallon of gas. Write an
equation to represent the relationship between the gas
Zach's car uses and the distance he travels, Then solve the
equation to see how far Zach travels on a trip if he uses
16 galions of gas.

tesson 6 Understand Functions

A sy
o S
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Study the example problem showing how to determine whether
a relationship is a function. Then solve problems 1-7.

Example

Describe the relationship shown in each table. Is the
relationship a function? Explain.

The input identifies the hours, and Table A
the output gives the cost for those
hours. The relationship is a function
because there is only one output
for each input.

1 2 3 4 5
53 | 56 | $9 | $12 | 515

The input identifies the week and Table B
the output gives the growth for :

each week. The relationship is a
function because there is only
one output for each input.

325¢ 2 2 |175

Can you represent either of the functions in the example
problem with an equation? Explain.

Suppose you reverse the inputs and outputs in Table B.
Would the relationship be a function? Explain.

J The table shows the number of concert tickets sold by
five students. Is the relationship a function? Explain.

| 1222116

i - __\;fé:cg;jaﬁ.iéﬁia_ry _j

3 functian a ruietha
| produces exactly one.
§: outpsit foreach input:
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Solve,

Use the following situation to solve problems 4-5.

L
T

The tahle shows the number of calories in different
numbers of servings of blueberries.

42 | 63 | 84 | 105

On the blank graph to the right, add a title and then
fabel and number the axes. Then plot the ordered
pairs on the graph.

Y
*

Explain whether the relationship is a function.
Can you represent the data with an equation?
If so, write the equation.

| Substitute values into the equationy = x — 3to
complete the table. Then state whether the equation
represents a function. Explain your reasoning.

Complete the table to show a relationship that is a
function that you haven't used yet. Be sure that you can
represent your function with an equation.

Describe the relationship between the input and output
values of your function. Then represent your function
with an equation.

68 Lesson 6 Understand Functions @©Curriculum Associates, LLC  Cepying is not permitted.




Study the example. Underline two parts that you think
make it a particularly good answer and a helpful example.

Example

An object traveling at the speed of sound at sea leve! travels
about 20 kilometers in 1 minute, Write equations that can be
used to find the following:

« the distance when given the time
« the time when given the distance

Use a table, diagram, or graph to show the two relationships.
Then describe the relationships. Explain whether or not the
relationships are functions.

Show your work, Use a table, diagram, or graph as well as
words and numbers to explain your answer.

Possible answer Let d = distance and £ = time.

An equation for the distance given the time is d = 20t and

an equation for the time given the distance ist = 515 d.

d = 201

Input

Cutput Output

The distance is 20 times the ime, and the time is %s}f
the distance.

In both relationships, there is only one possible output
for each input, so both are functions.

©Curriculum Associates, LLC  Copying is not permitted.
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Solve the problem, Use what you learned from the model.

Each molecule of carbon dioxide contains 2 oxygen atoms

and 1 carbon atom. Write equations that can be used to find
the following:

» the number of oxygen atoms when given the number of
carbon atoms

» the number of carbon atoms when glven the number of
oxygen atoms

Use a table, diagram, or graph to show the twao relationships.
Then describe the relationships. Explain whether or not the
relationships are functions.

Show your work. Use tables, diagrams, or graphs as well as
words and numbers to explain your answer.

ot A
F it

T
Didyou...
- answerall of the
partsofthe
- useatable,
 diagram, or graph
- '!'DGXF]am
- usewordsto
eplaing o

"+ usenumbersto

- explain?

Lesson & Understand Functions ©Curriculum Associates, LLC  Copying is not permitted.



Study the example showing a function. Then solve
problems 1-6.

b

values in the example.

Describe the relationship between the input and output

Example Perimeters of Squares zﬁzf
The table and graph show the s
i relationship between the fength 20 @ ?
of the sides of a square, in feet, and 18
the perimeter of the square in feet. z 16 & 1
.g- 14
3:i41(5 {5_: 12 i
1211620 g0 .
E s—e .
The relationship is a function because & ¢
there is only one output value for 4% :
each input value. 2 b

0 1 234567809 "

Side Length (input)

equation? If so, what equation can you write? If not,
why not?

Can you represent the function in the example with an

in the example function, could one side length ever
produce two different perimeters? Explain.

©Curriculum Associates, LLC  Copying is not permitted.
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Solve,

Do the data in this table show a function? If you switch

the input and the output values, would the data show a
function? Explain.

)iz 14

Substitute values into the equation to complete the
table. Then state whether the equation represents a
function. Explain your reasoning.

y=5x+1

A teacher wrote these numbers on the board: —5, —3,
-1, 1,1, 2, 3,4, 4, 6. The input-output diagram has been
started using the teacher’s numbers to form ordered
pairs of a function.

Part A: Put the remaining numbers in the ovals to
complete the diagram.

Part B: If the input and output values were reversed,
would the diagram still represent a function? Explain.

Input Output

o 74 tesson 7 Compare Funclions

- 4
T N
B e e
x:{- ’-%é(é
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Study the example problem showing how to compare rates

of change. Then solve problems 1-5.

§ Example
Compare the rates of change for these two functions, Which
function has a greater rate of change?
Sarah's Savings Alyssa’s Savings
y ¥
£ F A
40 )dﬁ 40 ;
36 36 |-
32 / ) /
Z 28 2 s ?
B g 3 :
i £ £ 2
& 20 / @ 20
E 15 3 16
a1 @
12 12 ;
. 4 4
&
; ¥ X J X
: 0 1 23 4567 89 0 123 456789
Weeks Weeks
§ vertical change _ 6 _ ¢ vertical change _ 8 _ g
; horizontal change 1 horizontal change 1
Alyssa’s rate of change is greater than Sarah's. 3

. What do the rates of change in the example represent?

What does it mean in the context of the example that
Alyssa’s rate of change is greater than Sarah’s?

Write ordered pairs for the initial values of each function
in the example. Tell what the initial values represent.

©Carmriculum Associates, LLC  Copying is not permitted.

Vocabulary

| “rate of change the rate
. atwhich one guantity.
 increases or decreases =
§- withrespect to a change .
| inthe other quantity.Itis
| theratio of the vertical

| Initial value the
starting value of a -
§ - function, -

%,

L

LA
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Solve,

The table shows the weight gain of a kitten over a
5-week period. The graph shows the weight gain of a
second kitten over the same period. Compare the rates
of change for these two functions.

Kitten A Kitten B
y ,
18 ) ﬁ
1 7 16
2 11 14}- /
3 15 w2 14
4 19 %; 10 /
5 23 g 8

ol 2

o

Weeks

X
¢ 1 2 3 456 7 8 9

Sonya sells bracelets once a month at a flea market, The
table shows her profits for a 5-month petiod.

Sonya
1 2 3 4 5
30 | 60 | 90 | 120 | 150

a. Kirsten sells bracelets once a month at a different
flea market. The rate of change for her profits is $10
per month, Complete the table and the graph to
show her total profits.

Kirsten

2 3 4 5

h. Sonya says that her profit is increasing 4 times as
fast as Kirsten's profit. Do you agree? Explain.

Kirsten

Totatl Profit {5)
.
w

0 1 23 4567809 *
Month
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Study the example problem showing how to compare
two functions. Then solve problems 1-6.

Example

Mr. Allen bought a new computer. His monthly payment
plan is shown in the table,

560 | 4B0 140013201240 | 160 | 80 | O

1 Mr Jessup buys a new computer for Payment Plans
: $400. He makes monthly payments {\
of $40 until the computer is paid for. 720
; Compare the initial values and rates 640
¢ of change of each function. @ 560@
ol L
. Youcangraph both functions to O 4006
: show that the amount Mr. Allen 8 320
owes starts at $560 and decreases E2a0
. $80 per month. The amount that 160
1 Mr Jessup owes starts at $400 and ) N

decreases $40 each month.

6 1 23 45 867 8 910

L ) Months
Mr. Allen’s initial value is $160 more

than Mr. Jessup's. Mr. Allen’s rate of change is greater than
Mr. Jessup’s rate of change.

What do the Initial values mean in the context of the
example problem?

Do the functions in the example show positive or
negative rates of change? Explain.

Write an equation for each function, where xis the
number of months and y is the amount owed.

Mr. Allen’s plan:

Mr. Jessup’s plan:

©Curricutum Associates, LLC  Copying is not permitted.
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Solve.

Below are two companies’ rates to rent a bicycle, How
much does it cost per hour to rent a bicycle at

Company A? What is the cost to rent a bicycle for 6 hours
from each company?

Company A: ¢ = 5h + 4, where ¢ = total cost
(in dollars) and h = number of hours

Company B: $6 per hour per bicycle

Roy wants to buy a new television for $300. Two stores
offer different payment options. Compare the initial
values and rates of change.

Store A Payment Plan
0 1 2 3 4 | 5
300 | 250 | 200 | 150 | 100} 50

Show your work.

Solution:

Pay $100 at the time of
purchase. Pay $50 per
month until the
television is paid for.

| Most plumbing companies charge a fee to come to your
house plus a charge per hour of work. The fees and
charges for two plumbing companies are shown.

Write an equation for each company, where ¢ = total cost
{in dollars) and h = number of hours. Explain what the
initial values and rates of change mean in this context.

Company A:

Company B:

Company A

Fee: $50

Charge per hour: $40
Company B

Fee: 525

Charge per hour: $50
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Solve the problems.

A hardware store charges a $30 rental fee and $15 per
day to rent a power washer. Which equation correcily
relates the total cost y to rent the washer for x days?

A y=15+30x C y=30—+%

— = _ X
B y=30+15x D y=15-3

Whaféo ﬂne ;)ar‘f's
of each equai’:on 3
represenf‘? '

Tony drives 18 miles to pick up his friend at his house.
Then he drives at a constant speed of 40 miles per hour
to a state park to go hiking. Let y represent the number
of miles that Tony drives after x hours. Which of the
following statements are true? Select all that apply.

A The relationship can be represented by the
equation y = 40x + 18.

B If Tony travels for 1.5 hours, he will have driven a
total of 60 miles.

C Theinitial value is 18 miles.

The rate of change is negative.

: Howéoyou i
| determine the :m‘ha]
valveand rateof =
'change?

She gives her mom $40 at the time of purchase and
continues to pay her $10 each month until the bike is
paid for in full. Alma wrote this equation to represent
the amount y that she will have paid her mom after
x months.

Equation: y = 40x + 10

Is her equation correct? How did she get that equation?
Iif it is not correct, write a correct equation.

Alma borrows money from her mom to buy a $150 bike.

_. ﬁaw does an equa‘!‘eon
ShoWam‘l"eof”:f' SRR
: change? :

©@Curriculum Associates, LLC  Copying is not permitted.
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Solve,

The rates for two airport shuttles are shown below. We-Drive Shuttle
¥
: 'y T
Quick Shuttle 7 .
; Rates for shuttle 60 = =
- $30 for passenger pickup . 5o S
: « $0.50 for each mile driven 2 0 e
8
S 30|t
2047
10
P X
o] W2 30 4 S0 5
Miles 1
Part A
Which shuttle service has a greater initial value? H°W &“ef the 9“’-’?*'
Which service has the greater rate of change? ""]0‘” ;”‘e "‘_"_h“}
Explain what the greater initial value and greater yalver .
rate of change mean.
Show your work.
Solution:
PartB
Which shuttle company would cost less for a 25-mile trip?
Show your work.
Solution:
Leseon 7 Compare Functions ©Cwrriculum Associates, LLC  Copying is not permitted.
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Study the example showing how to tell whethera
relatmnship is proportxona! Then solve prohlems 1-7.

S R

Example

Suppose you are buying grapes at a farmers” market. The cost of the
grapes you buy depends on how many pounds you get. Two different

pair of values in both tables.

stalls sell grapes at the market. Find the ratio of the cost to weight for each

StallA stall B

The relationship of total cost to weight in Stall A is proportional.

The relationship of total cost to weight in Stall B is not proportional.

2 6 | 8 2| 4] 6|8
4 {8 |12} g8 |10] 12w
5= 2 3 3 2 8 2 5 i 2.5 3 2 a 175
Iif a group of ratios are equivalent, they are part of a proportional
relationship.

¥
A
14
| Plota point for each of the first three ordered pairs in 12
each table. Connect the points for each relationship by w0
drawing a line through the points to the y-axis. ‘35 8
6
¢ Look at your graph in problem 1. Does the line for either 4
the proportional relationship or the relationship that is 2
not proportional go through the origin? If so, which 0 173 43567 8
relationship? Weight {Ib}
Suppose the cost of 10 pounds of grapes at Stalt A is §15.
Would the relationship still be proportional? Explain.
©Curriculum Associates, LLC  Copying is not permitted. Lesson 11 Represent Proportional Relationships %23 . e
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Solve,

The number of cups of water used in two different soup
recipes depends on the number of batches of the recipe
you make. The tables show the number of cups of water
used in the two soup recipes.

517
20 | 28
Do the ratios of cups of water to batches of soup in each
table represent a proportional relationship? Explain.
The graph shows the data from the tables in problem 4. "’\ :
Which line represents Recipe B? Explain how you know. 28
24 /ﬁi
T 20 }/
2 16 »
212 : /
o
Use the graph that you identified in problem 5 for 8 4
Recipe B to find how much water is needed for 4 batches A .
¢ N — X
of soup. Is the ratio of water to batches equivalent to the 0 1 23 456 7 8
ratios you found for Recipe B in problem 4? Batches
Tomas collects sports cards. The number of baseball
cards he buys each week is proportional to the number
of football cards he buys,
a. Fill in the missing numbers in the table.
2 |3
15 6
8
b. Suppose Tomas buys a total of 30 baseball and
football cards in Week 5. How many of each would
he have to buy to keep the same proportional
refationship?
b 124 Lesson 11 fepresent Proportional Relationships ©Curriculum Associates, LLC  Copylng is not permitted.

we A
,ﬁg‘& B, gia;{z,.
T




Study the example problem showing how to use a table and
a graph to find a unit cost. Then solve problems 1-6.

Example

The table shows the costs for Band Concert Tickets

different numbers of tickets for the P P

band concert. Find the unit cost. 2 | 36 | 48

Use a Table

The ratios in the table are all equivalent, so you can divide

the cost by the number of tickets in any of the ratios to find

the unit cost.

$24 _ %6 :

Ftickets 1 ricket’ " 36 for 1 ticket Band Concert Tickets

The unit costis 6, X 1
48
3 Use a Graph -

The graph of the data shows that the costof g 3°
S

. . . . 24
one ticket, is $6, 50 the unit cost is 6. 18
12 :
6-#01,6)
. > X
© 12345678
Number of Tickets
Explain what the unit cost means in the context of the
example problem.
Use two points on the graph to find the slope. How does
the slope relate to the unit cost?
Use the slope you found in problem 2 to write an
equation for finding the cost y of x tickets.
<y
©Curriculum Associates, LLC  Copying is not permitted. Lesson 1 Represent Proportional Relationships ’§2§ )
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Solve,

The table shows the distance Nikki travels on her bike as Bike Riding Pace
a function of how many hours she rides at a constant ¥
rate, Use the information in the table to make a graph, 60“
using the coordinate plane to the right. Find the slope of S 50
the graph and explain what it means in this situation, ‘?6 40
T s g
16.5 33 495 66 z
10
0 1 234567 8 %
Number of Hours
The table below shows the cost ¢ for different numbers
of binders b. Is the relationship proportional? If so,
represent it with an equation. If not, explain why not.
4 8 12 16
$540 $1080 | $1620 | $21.60
Sean wrote the equation 9.25 = 5m, where m is the cost Cost of Pears
per pound, to show the relationship between the total y
cost, $9.25, and the number of pounds of pears, 5, he M“
bought at Quick Mart, Find the unit cost of the pears, 1
write an equation to show the cost y of x pounds of 10
pears, and use the equation to complete the table. Then z 6
use the information in your table to make a graph. 3 6
Unit cost: ¢
2
Equation: 0 T 2345678 "

8.25

Number of Pounds
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Study the example problem showing how to compare
proportional relationships. Then solve problems 1-6.

Example

The table and the equation show the rates at which two
different students read in words per minute. Which student
reads faster?

StudentB

y = 158x, where xis the number
of minutes and y is the number
150 | 300 | 450 { 600 of words read.

Student A

For Student A use the table to find the number of words read
in 1 minute, and for Student B use the slope in the equation.

Student A: 150 words per minute
Student B: 158 words per minute

Compare the rates: 158 > 150.
Student B reads faster.

How much faster does Student B read than Student A?

The graph shows the rate at which Student C reads. Student C Reading Rate
Explain how to find the reading rate for StudentC ¥
from the graph. 1

700
560
420
280
40

Number of Words

P

> X
0 1 2 3 4 35 6

] ) ! ; Number of Minutes
List the three students and their reading rates in
order from fastest reader to slowest reader.
©Cusriculum Associates, LLC  Copying is not permitted. Lesson 11 Represent Proportional Relationships
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Solve,

The price of strawberries at Fine Foods is shown in the Strawberries Prices
graph. At Best Market, the price y for x pounds of at Fine Foods

strawberries is given by y = 2.9x. Which store sells X ;
strawberries at a higher unit price? How much more will 14
you pay for 6 pounds of strawberries at that store than 12
the other store?

Price{$)

ST N R - ]

5 .
The price y for x pounds of nails at U-Fix-It is represented o 123 45678
by y = 4.4x. The unit price for the same type of nails at Number of Pounds

Just Hardware is $0.30 per pound greater than the unit

price at U-Fix-It. Complete the table to show the costs for

1, 2, 3, and 4 of pounds of nails at Just Hardware.

The table and the equation show the approximate
speeds for a roadrunner and a coyote running at top
speed. Which animal runs faster? How much faster

per minute? (1 mile ==5,280 feet, 1 minute = 60 seconds)

Roadrunner Coyote

1 2 3 4 ¥ = 0.7x, where x is the number
of minutes and y is the number
29 | 58 | 8 {116 miles.

Show your work.

Solution:
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(%%%%%g%géﬁmz How can you represent and
kintemre& proportional relationships?

How you can use the table to find the unit rate in the
example problem?

Exampie
The table shows the costs Vegetable Seeds
for 2, 3,4, and 5 vegetable 2 3 4 3
seed packets. What Is the 300 | A4S0 | 600 | 750
unit rate?
Use the data to make a graph. Find the Vegetable Seeds
cost of 1 seed packet. 3"‘
8
4 Theunit rate is the cost in dollars for . i
1 1 packet. The graph shows that the unit 6 /
rate is 1.50. @ 5
% 4
sS4
3
2
1¥'¢, (LLEQ)
. o 1 23 45678 "
: Number of Packets

What is the constant of proportionality in the example?
What is the slope of the graph? What do they represent
in the context of this problem? How do the constant of
proportionality and slope refate to the unit rate?

@Curriculum Associates, LLC  Copying is not permitted.
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Solve. Typing Rate

. , ¥

The table shows how many words Julian can type If he f
types at a steady rate. Use the information in the table to 400
make a graph. Find the slope of the graph and explain 5 350
what it means in this situation. g 300
g 250

ping Rate g 200 |-

2 ¢ | 6 | 8 E 150
80 | 160 | 240 | 320 = 100
50

> X
O T2 3 45 6 7 8
Number of Minutes

Town Theater Tickets
y
The price for movie tickets at Town Theater is shown in A
the graph. The price of 5 movie tickets at Center Theater :2

is $3.75 greater than the price of 5 movie tickets at Town R
Theater, What is the price per ticket at each theater? =
A
=
-

A hardware store buys 300 feet of nylon rope. The store 618

sells the rope by the inch. A customer can purchase T T T s e T 8
40 inches of the rope for $1.60. The store sells all of the Number of Tickets

rope and makes a profit of $54. How much did the store

pay for the rope in dollars per inch?

Show your work.

Solution:
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Study the example problem showing how to write an
equation in slope-intercept form, Then solve problems 1-6.

Example

Write an equation for the line shown in the
diagram.

Find the slope of the line.

mete N _7-3 Use t?}e slope formula.
x,—x, 2-0 Substitute 7 fory,, 3 for

¥, 2 forx,, and 0O for x,.

m = %, or2 Simplify. The slope is 2.

The line passes through (0, 3), so the
y-intercept is 3. Use the slope-intercept form
y = mx -+ b to write an equation.

y=mx+b
y=2x+3 Substitute 2 formand 3 for b.

An equation for thelineisy = 2x -+ 3.

R

A

Y
¢

| How is the equation y = 2x similar to the equation
y = 2x + 3 in the example problem? How s it different?

I Graph y = 2xin the diagram above, Compare the graphs.
Does either graph represent a proportional relationship?

Explain.

What does that value mean?

What value of b makes y = 2x + bthesameasy = 2x7

®Curricuhumn Asseciates, LLC  Copytng is not permitted.
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Vocabulary

b
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Solve,

Andy uses the table below to write a linear equation.

x -1 4] 1 2

y 2 4 5 8

He says he can write an equation of the form y = mxfor
the given values. Is he correct? Explain your reasoning.

Look at these equations. Write each equation in
slope-intercept form. Are the equations the same or
different? Explain.

y+1=2x-3 2x-3=y+1 2y +2=4x~6
Explain how you can write an equation for a line with "1
slope %that crosses the y-axis at the point (0, -1). .
Graph the line for your equation. ;
il~~-v4--~3-'-2—10 2 3 4 r}x

LW B W a
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Study the example. Underline two parts that you think
make it a particularly good answer and a helpful example.
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Example

Draw two lines that have the same slope on the coordinate grid. Let one
represent a proportional relationship and one represent a relationship
that is not proportional. Label one line A and the other B,

Predict how you expect the slope-intercept equations of your lines to be
similar and different. Then write the equations to check your predictions.

Show your work, Use graphs, words, and numbers to explain your

answer.
y B
vsjl_ /ﬂ f, - ‘\
[ Where éoes fhe
// examp]e...'.:}-
AN - - answer. each parf
. ? /‘ﬁ/ L 3of ‘H-.e problem?
- d R
g —4—3»2—@)/3/1 33 456 -__'-_'_'usea gm?h ’i‘o
o ..eXlen‘ L
o 3 e use Words fo
3"/ : L exp]am?
s R
6 -'::'_'-_uSe numbers fo
! . explain?

| predict that the siope-intercept equations will have the same
value for m because the lines have the same sfope. The
equations will have different values for b, because Line A
crosses the y-axis at (0, 0) and Line B crosses the y-axis at (0, 3).
To write the equations, | first find the slope and y-intercept of

each kine. Line A:slope = —24—19 =2 -intercept = 0;
p g 3¥

Line B: slope = g g 5 y-intercept = 4. Eguation for
Line Ary = %x. EquationforLina By = %x + 4,
My predictions were correct. The equations have the same

value form, %ﬁ, and different values for b, 0 and 4.




Solve the problem. Use what you learned from the model.

Draw two lines that both represent proportional
relationships but have different slopes. Label one line A and
the other B.

Predict how you expect the stope-intercept equations of
your lines to be similar and different. Then write the
equations to check your predictions.

Show your work. Use graphs, words, and numbers to

explain your answer. (o
'_Dld_)/_o_u...“__ i
) . answereachparf .-
6 " of the problem? . "
5 S e e e i
4 s.useagraphto
: Cexplaing
2 R
1 “ use words fo .
e s a3 0| 1234536 _.:_gx_p:!g_m.___.;.. e
5 e use numbers fool S
N 'expia_i_n?' i
—4 S
5
6
h 4
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Study the example problem showing how to write
equivalent expressions. Then solve probiems 1-10.

Example

The lengths of the sides of an equilateral 5
triangle are shown. Write two different L
expressions for the perimeter of the triangle. d+5 d+5 :

Expression 1

| Find the sum of the side lengths. d+5 .
d+5)+d+5+d+5)

% Expression 2
Multiply the side length by 3.
3{d + 5)

Simplify Expression 1.

#1 Simplify Expression 2.

¢ What do you notice about the simplified expressions in
problems 1 and 27

7 lessica rewrites Expression lasd+d+d+5+ 5+ 5.
Why might she have done this?

Is Jessica's expression equivalent to Expression 2?
Explain how you know.
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Solve,

t+4 3

The lengths of the sides of a rectangle are shown, Write two
equivalent expressions for the perimeter of the rectangle.

t+3

Write two different expressions that are equivalent to
12 — 16x. Use factoring to write one of the expressions.

Describe how to determine whether 18 — 3(2p + 4) — 3p
is equivalent to 3(2 — 3p). Are the expressions equivalent?

Tran says that —%x -7+ %x + 2x is equivalent to

4x — 7. How can substituting any value for x help you
determine whether Tran is correct? Is Tran correct? Use
substitution to justify your answer.

(I The perimeter of a square can be represented by the
expression 8x — 10 + 8x — 10, Write an expression to
represent the length of one side of the square.

Show your work.

Solution:
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Study the example showing how to solve an equation
with rational coefficients. Then sclve problems 1-6.

i

Example
Solve the equation: 4n = %(2:1 -~ 12).
4n = % (2n — 12)
n=n—=6 Step 1: Use the distributive property.

4n—pn=n-—6-—n Step2: Subtract n from both sides.

3n=—-6 Step 3: Simplify.
—%- = :§6— Step 4: Divide both sides by 3.
n

Step 5: Simplify.

Check the solution to the example problem by replacing
n in the original equation with —2 and evaluating both
sides, What true statement do you get?

| Suppose that you first want to eliminate the fraction in
the example equation. What would your first step be?

fs —2 still the solution when you start by eliminating the
fraction first? Explain.

! Trey solved the equation 1z(&‘f + 16) = 4x, as shown at

the right, Describe the error that he made. Then solve
the problem.

1 =
4(8)( + 16} = 4x

2x+ 16 = 4x
16 _2x
2 2
8=x

Lesson 13 Sclve Linear Equations with Rational Coefficients




Solve,

| Describe the first step you would use to solve the
equation 20 = 7y + 2 — y.Is that the only possible
first step?

Solve the equation in two different ways: 6p = 0.6(5p + 15).

Show your work.

Solution:

The two rectangles shown below have the same
perimeter. Write and solve an equation to find the value
of x. Then find the measures of the length and width of
Rectangle B. All measurements are in inches.

Rectangle A Rectangle B
7
4x— 3
5
X
Equation:
X E—
Length of Rectangle B:
Width of Rectangle B:
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Claire wants to solve the equation “w(X —~ )= x + 2. i
: _Wha'l”i'echmquef can
Which step would not be an appropriate you use to Sme’!'Fy

first step for Claire to take to solve for x? ) :ﬂ,e equahon?

A Multiply both sides by —4.

B Use the distributive property to distribute -,
C Add 1 to both sides.
D Multiply both sides by _'%

4

Solve the equation forx:3x — 5= %x + 2x.

. Wf-ra'i' opera'hons can

Show your work. you use fo _g_,_mphf‘y
both sides o‘F the
equation?
e
Solution:

In the equation below, for what value of c does x = 47

3 How canyoucheck
sx+4)=3x—c youranswer? .

A -6 C 3 ;

B -3 D 6

Jenn chose C as the correct answer. How did she get that answer?

©Caurriculum Associates, LLC  Copying is not permitted,
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Solve.

Choose Yes or No to tell whether the equation has the
given solution.

a 2X+4=3x~2;x=6 DYes DNO

.Efyﬁfff‘ltfqﬁqn to fd]ve

b. %x+3=%x+1;x28 [:IYES DNO O

€. 3Ix—-5=05x=2 DYes DNO

d. 2Ex+6)=3x—4x=8 [Jves  [lno

§ The width of this rectangle is  of the lengh. Find the TR T

length and the width of the rectangle. What equationcan. -

“you Write fo _s_a_l_ve Tthe.
{2y + 6}in. prablem? R
{y — 4}in. O

Show your work,

Solution:
Lesson 13 Solve Linear Equations with Rational Cosfficients ©Curricutum Associates, L1.C  Copying is not permitted.
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(?%f@@ﬁ%ﬁ%m: What properties can you use to \
compare shapes? :

Study the example problem showing how to compare the
properties of two shapes. Then solve problems 1-6.

§ Example

Compare the properties of quadrilaterals A and 5.
v You can use a table to show the comparison.
A

-

-4 A

j B A | 2pairs 4 pairs equal

.1 B | 2palrs 4 pairs equal

3\(12345_67891p>x

What types of quadrilaterals are figures A and B in the
example problem? Explain how you know.

Use AABC and ADEF to answer problems 2-3. z . ;
6

In AABC the measure of angle A is 30° In ADEF the ST - F
measure of angle F is 60°. Find the rest of the angle 4 N ;,./
measures in each triangle and compare them. X c

% P

< i3] g X

oy 1 2 3 4 56 7 8 910110183

What types of triangles are AABCand ADEF?
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Solve,

Consider quadrilaterals RSTV and WXYZ

a. Find the lengths of the sides of each quadrilateral.
Explain how you got your answers.

b. Compare the properties of the figures. What type of
quadrilateral is each figure?

¥

A

PO S

5 W X
.

-2

1 z Y
Y T

< Jpr X
OV 1 234567800110

How are the triangles at the right alike? How are they
different?

Draw two different quadrifaterals with the following
properties on the coordinate plane.

» exactly 1 pair of parallel sides
» 2 pairs of perpendicular sides

« 2rightangles, 1 obtuse angle, 1 acute angle

4cm

4om dcm 4om 4cm

dem

e

A W oo

&

- B X
DY 1 2 3 4 5 6 7 B 9 0112
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Study the example problem showing how to analyze a figure and

its image after a transformation. Then solve problems 1-6.

Example

AT

The gray figure is a transformation of the green
figure. Compare the figures. Tell what is the same
and what is different about the original figure

and its image. Identify the transformation.

Same: The figures have the same shape and size.
Parallel lines are still parallel and perpendicular lines are still
perpendicular. The lengths of the sides are the same,

and the measures of the angles are the same.

Different: The image is in a different location than the
original figure,

§ The transformatian is a translation,

Describe how the original figure in the example problem
was moved to get the image.

A figure and a line of reflection are shown. Draw the
image of the figure after it is reflected across the line.

i

Look at the image you drew in problem 2, Are the

Vocabulary

Z_ _.:transformation a

: "'_transformatlon that ﬂ:ps
a figure overa llne of '

properties of the sides and angles in the image the same _reﬂec‘tion
as the properties of the sides and angles in the original ' :
figure? Explain.
v;{;f}?vs'
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Solve.

The gray figure is a transformation of the green figure,
Identify the transformation and describe one way in
which you could compare the properties of the lines and
the angles in the original figure and its image.

Consider the three figures on the grid.

a. How was the green figure transformed to get
image A? -

b. How was the green figure transformed to get
image B?

Jarrod says that the gray figure is a rotation of the green
figure. Imani says it is a reflection. Who is correct?
Explain your reasoning. Draw any lines of reflection or
centers of rotation on the grid.

3 H

rofation 2.
1 wansformation that
. afigurearound a fixed

. o TDE  1esson 1B Understand Properties of Transformations ©Curriculum Associates, 11.C  Copying is not permitted.
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Study the example. Underline two parts that you think
make it a particularly good answer and a helpful example.

@Curricutum Associates, LLC  Copying is not permitted.

Example

Draw a trapezoid in the middle of the grid below. Label it A,
Then draw the following transformations of your trapezoid.

« atranslation 2 units up and 8 units right. Label this
figure B.

« areflection over a horizontal line of reflection. Label
this figure C. Draw the line of reflection.

« 3 180° counterclockwise rotation around a center of
rotation. Label this figure D. Draw the point that is
the center of rotation,

Explain how the properties of the lines and angles in your
transformations are the same as the properties of the lines
and angles in your original figure.

Show your work. Use words and drawings to explain
your answer.

A
¥

After the figure is transformed:
« parallel lines are still parailel.
= the lengths of the sides are the same.
« the measures of the angles are the same,

« ali the figures have the same shape and size.

T 2 S

:'.Wh_'e.ré-:_.cl;és:fhé: A
cexample...o

< answerallparts of

s usewordsto

* usedrawingsto
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Solve the problem. Use what you learned from the model.

Draw a scalene right triangle in the middie of the grid below.
Label it J. Then draw the following transformations of your
triangle.

+ atransiation 3 units down and 9 units left.
Label it K

« areflection over a vertical line of reflection.
Label it £, Draw the line of reflection.

e« 2 90° clockwise rotation around a center of
rotation. Label it M. Draw the point that is the
center of rotation,

Explain how the properties of the lines and angles in your
transformations are the same as the properties of the lines
. and angles in your original figure.

Show your work. Use words and drawings to explain
YOUT answer.

an;Wer ail par‘f‘s‘ o‘F
ﬂ:e pmHem?

i Cuse Wc:rds 1‘0
- explam?

_. * use cfrangS ‘I‘o
exp!am
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Study the example showing three different transformations
of a figure. Then solve problems 1-5.

R

Exampie

Transformations change the location or size of a figure. Three types of
transformations are shown below.

Translation Reflection Rotation

v

Look at the figures in the example. Describe what
happens to the size, shape, and location of a figure when
it is translated, reflected, or rotated.

The original green figure in the example has two right
angles and one pair of parallel lines. Do the translation,
reflection, and rotation produce images that have those
same properties? Explain why or why not.

©Curriculum Associates, LLC  Copying is not permitted. Lassan 19 Transformations and Congruence

| transtormation thattums
| afiguearoundatied
ot called he centerof

fogon,

Line of reflection Center of rotation
Every point of the The figure is flipped The figure is turned
figure moves the same  across a line of clockwise or
distance and in the reflection. counterclockwise around
same direction, a center of rotation.

4:-afigureacrossalineof
1. reflection,

| rotatioma

i,
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Solve.

Tell which of the gray figures, A, B, or C, appears to be a
translation of the green figure. Explain your reasoning.

" Quadrilateral WXYZ is a reflection of quadrifateral ABCD.

The lengths of the sides and the measures of the angles
of quadrilateral ABCD are given below.

AB =4 cm BC=2¢m CD=3cm DA=2cm
m/A=82 m/B=59° m/C=129° ms/D=90°

Predict the lengths of the sides and measures of the
angles in quadrilateral WXYZ. Explain your reasoning.

WX = XY= YZ = ZW=

mswW = msX= msY = mLZ=

Troy says that the green figure is the result of a single |
transformation or combination of a series of transformations ‘
on the gray figure. Is Troy correct? Explain.

282  Lesson19 Transformations and Congruence ©Curriculam Associates, LLC  Copying is not permitted.
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Study the example problem showing how to determine
whether a shape and its image are congruent. Then solve
problems 1-6.

g Example y

i B A
Polygon ABCD is translated 2 units down -
and 6 units to the right. Are polygons ABCD e s
and RSTV congruent? AT AR

: Because polygon RSTV is the image of & ™ 2

§ polygon ABCD after a translation, each ofits VIS N

4 sides is congruent to the corresponding side | (-4 -2 (0 2 dk
of polygon ABCD, and each of its angles is IR -
congruent to the corresponding angle of polygon ABCD. .
LA= /LR LB=/S LC=,LT D=LV
AF=RS BC=5T =T DA=W E
All of the corresponding sides and corresponding angles
are congruent, so the polygons are congruent.

| The example shows that £ A is congruent to ZR. What
does it mean to say that angles are congruent?

| Suppose you reflect polygon ABCD across the y-axis. Would
the image be congruent to polygon ABCD? Explain.

In the example, the length of BC in polygon ABCD is

6 units, Without measuring or counting, tell which side
in polygon RSTV has a length of 6 units. Explain how
you know.
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Solve.

1 Triangle PQR is rotated 90° clockwise about the origin.

The diagram shows the triangle and its image, AXYZ. a o X
Complete the congruence statements. S \ ™~ v
— - S Fap”al A
PQ= QR=____ RP = ~T 5 \./
P V
/P= L= LR = < Z| > x
-5 i—4 i-2 |0 2 4 I3
& y
Sketch the image of AFGH after a translation 2 units y
down and 5 units to the left. Label the vertices of the 1 3
image K, L, and M. Then complete the congruence 4 \C
statements below. : P N\
> .Y
GH = = MK - H G
g wedl wd o] 2 4 5 x
=/K ZH= P I N S O O
Y
X
3
Polygon B is a reflection of polygon A across the x-axis.
Polygon C is a rotation of polygon 8 about the origin. A 2 ¢
Is palygon C congruent to polygon A? Explain why < .y
or why not. o S M SO0t O O O
B 2
\ 4

208  Lesson 19 Transformations and Congruence
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Study the example probiem showing how to describe a
transformation. Then solve problems 1-7.

Example

AABC was transformed to produce a i

congruent triangle, AA'8'C’. What ’ o A

transformation produced AA'B'C"? " N =

el

Compare the corresponding vertices in // 2 N\ 1

AABC and AABC. c A

AABC (Original) AA'B'C’ (Image) 47 OV 3 -

A=5,4) A4, 5) |
_ B(—1, 4} B'(4, 1)
4 - .

=51 ', 5) ;;3
. The x-coordinates in the image are the y-coordinates in éff:
% the original figure, The y-coordinates in the image are the
©  opposites of the x-coordinates in the original figure, The

transformation was a 90° clockwise rotation about the origin,

Suppose the vertices of the original figure in the example

were A(—86, 6), B(—2, 5), and {{~6, 2). What would be the

vertices of the image after a 90° clockwise rotation about

the origin?

Al ) B (__) ()

On the coordinate plane at the right, sketch AABC from ¥

the example above. Then sketch the triangle with the A

following vertices.

2
L(-5, —4) M(-1, —4) N{=5, ~1)
fs AABC congruent to ALMN? Explain how you know. < = o

Compare the corresponding vertices in problem 2 and
identify the transformation that produced ALMN from
AABC.

©Curriculum Asseciates, LLC  Copying is not permitted.

Lasson 19 Transformations and Congruence




Solve,

Use polygon RSTV and its congruent image polygon ¥
R'S'T'V’ for problems 4-6. s 1.
RJ
Describe the transformation that maps Polygon RSTV to L 3
Polygon R'S'T'V". vi |R Pl
: V
Write the coordinates of the vertices of the original N =2 % 1 2 !

polygon and its image. Then compare the corresponding
vertices in the original polygon and its image.

R(___) S ) T ) W )

R(__...) S ) T ) Vi )

How is the comparison of the corresponding vertices
related to your description of the translation?

The coordinates of the vertices of AXYZ and its image
after a transformation are shown below,

AXYZ-X(3,4), Y(3, 1), Z(1, 1)
AXY 2 X34, Y3, 10,211
a. Describe the difference in the x-values and the

y-values of the corresponding vertices. What
transformation produced AX'Y'Z'?

b. Then use this information to find the coordinates of the
vertices of AP'Q'R' after the same transformation of APQR,

APQR: P(—5, 3), Q(—1, 2), R(-2, —2)

AP'QR": P

), Q( hR( )
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Solve the problems.

A e TR

Isthere more than -

X onewayinwhich

“triangle Acould -

havebeen i

7% 1Y I Iy transformedto. .0

B N produce fr.iéngfg"w L
- -2 1oy 1 2 gl BRI R R G

Tell whether each statement is True or False.

a. The transformation could be
a reflection across the y-axis. D True D False

b. The transformation could be
a reflection across the x-axis. D True D False

¢. The transformation could be
a 90° counterclockwise
rotation about the origin. D True I:I False

d. The transformation could be
a translation 5 units to the left. D True D False

©Curricalum Associates, LLC  Copying is not permitted. Lesson 19 Transformations and Congruence

Mica translated Polygon C two units to the right and
then reflected the image across the y-axis to get
Polygon T. Sasha used one transformation to transform
Palygon C to Polygon T. Describe the transformation
that Sasha used.

Does Polygon Tlook |
like a tranglation, - -
_reflection, or rotation .

of Polygon C7

A
h
k]

£ e,




Solve.

Which graph shows the image of AABC after the

following series of transformations? : 3M°ke as kefc’" "f o
] ) y the ”franf'forma‘!’sons-_
A translation 6 units ' before Y“" c;.,ooge L
left and 2 units down, | IS
followed by a reflection
over the linex = —2. < ¢ -ANNH
O‘r 2
¥ y
A A c A
2 2
< s S x < \5‘\ 5 > x
Y Y
¥ y
B A D A
SR
o 5 3 e
i) l - 5y 7 - X
Tabatha chose B as her answer. How did she get
that answer?

. Rotate Polygon HJ/KL 180° about v IR N TN
the origin, reflect it across the TH - Ufe ﬂ’“’-‘ '””“99 e
y-axis, and then reflect it across 2 / ;.f from the first.
the x-axis. Write the coordinates |~ - transformation as i
of the vertices of the image NERENEN SN ?’e original {’jwe )
Polygon H/'K'L', How do the 2 1_‘:;::1{:::;:”
vertices of Polygon H/'K'L % and vse the 1mc:gez e

_ compare to the corresponding from the second .

| vertices of Polygon HIKL? " transformationas
'5__1’he orlgmai fori‘he e
tird,
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Study the example problem showing how to use
transformations to identify two congruent figures.
Then solve problems 1-6.

Example

Polygon KLMN is translated 3 units down y

and 5 units to the left. Polygon K'LUM'N' is s M
its image. Are Polygon KLMN and its \
image congruent? o N

Because Polygon K'L'M'N’ is the image
5 of Polygon KLMN after a translation,

1 each of its sides is congruent to the ra
corresponding side of Polygon KLMN, !
and each of its angles is congruent to the
corresponding angle of Polygon KLMN.

vz

ry
A
Of s

LK=sK Ll=sL IM=LM IN=/N

L

K=Kl IM=L'M MN=MN NK=NK

oy

All of the corresponding parts are congruent, so the
polygons are congruent.

| When Polygon KLMN in the example was transiated,
how did the angle and line properties change? Explain.

1 Ifyou rotate Polygon KLMN 180° about the origin, how
would the measures of the angles in the image compare
1o the measures of the corresponding angles in the
original figure?

©Curriculum Associates, LLC  Copying is not permitted. Lesson 20 Transformations and Similarity
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Solve,

Triangle ABC and its image are shown.

a. What type of transformation was used to transform
NABCto AA'B'C"?

b. Is AA'B'C' congruent to AABC? Explain why or
why not.

7

A

Y

3 Consider Triangle D and Triangle X.

a. Is Triangle X the result of a reflection, translation, or
rotation of Triangle D? Explain how you know.

b. Arethe triangles congruent? Explain why or why not.

A

Y
>

Polygon A was translated 7 units to the left to form

Polygon R. Name another way to transform Polygon A
to form Polygon R.

Polygon P is reflected to form Polygon S, Sasha says that
the perimeter of Polygon 5 is the same as the perimeter

of Polygon P. Do you agree with Sasha? Explain why or
why not,

.
Lt

In

iOA

4

-2 10y

h 4
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Study the example problem showing how to combine
a dilation with other transformations. Then solve
problems 1-6.

Example

in the diagram, AABC is similar to AHJK. A

A sequence of transformations was used y

to transform AABC to AHIK, \—

Describe the change in the coordinates. Je\ Ke

A(2, 4) was transformed to H(—1, —2). < G

o
Y
5
T

LY -
B(6, —2) was transformed to J(—3, 1). H\ at

C(2, —2) was transformed to K(—1, 1. i
Each x-coordinate has the opposite sign and was multiplied by %
Each y-coordinate has the opposite sign and was multiplied by —;—

AABC was dilated about center O with a scale factor of Ji and rotated
180° about O.

[ Suppose the scale factor of the dilation in the example
was 2 instead of %, but the dilation was still centered
about O and AABC was still rotated 180° about O. What

would the coordinates of the vertices of AHJK be?

W ) J )y K )

Explain how a dilation is different from a translation, a
reflection, or a rotation.

 dilat
"+ *transformation in which

g :t.he. onglnal figure and

| scale factor ina
| diltion, theratio of the
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Solve,

The coordinates of the vertices of Polygon R5TV are
R(2, 4), 5(6, 4), T(6, 0), and V(2, 0). The Polygon is dilated with
scale factor of % and center (0, 0). Explain how you can find

the coordinates of the vertices of Polygon R'S'T'V' from

the coordinates of the vertices of the Polygon RSTV.

o
>

Triangle PQR is shown at the right.
a. Reflect APQR across the y-axis and then dilate it

about center O with a scale factor of 2. Sketch b G
the final image. YRV
/
b. Compare the coordinates of the corresponding \v/
vertices of the final image and APQR. TR oy X

= In the diagram at the right, Polygon A is similar to
Polygon W, What sequence of transformations
transformed Polygon A to Polygon W? y

Y
>

A

0\’

| Tracy dilates a figure with a scale factor of % and center O

and then dilates the image with a scale factor of 2
and center Q. Carrie says that she can get the same
final image using just one dilation. Is she correct? If so,

how can she do that? If not, why not?

Lasson 20 Transformations and Similarity ©Currientum Associates, LLC  Copying is not permitted.
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Solve the problems,

Polygon ABCD is shown on the coordinate plane. Sketch
the image after it is rotated 90° clockwise about O and
then dilated with scale factor 2 and center O.

o

Make sure you
“rotate the po}ygon
elockuise.

A
A@ 08
YT %

- Oy

The coordinates of ADEF are D(—4, 4), E(2, 4}, and F(0, 2).
The triangle is dilated with scale factor% and center O.

What are the coordinates of the vertices of the image
of ADEF?

A (2,~2,(1,-2),0 -1
B (—838)48),04

C (-=2,2,{1,2,01

D 4 -4,42,20

Sue chose A as the carrect answer, How did she get
that answer?

. Haw do you uSe 'I‘he
: sca!e factorto find -
the coordmnfes o'F

:‘H-:e rmage?
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Solve,

Tell whether each statement is True or False.

_. Whaffypes o'F
: 'franiformahonf keep: 5-:

a. A dilation image is always
congruent to the original “the size and shape of -
?' figure, D True D False :"f‘h?_angm_al_fagure?..
b. A rotation image is always St
congruent to the original

figure. D True D False

¢. A reflection image is never
congruent to the original

figure. [:l True D False

d. A translation image is always
congruent to the original

figure. D True D False

Polygon LMNP was transformed to Polygon WXYZ. E
: Whaffype o‘f

PartA E ’f'ransforma'han can :
Describe a sequence of transformations that _change fhe $aZe ofa

maps Polygon LMNP to Polygon WXYZ. :_-ﬁg ure? i

PartB y
Find the perimeters of Polygon WXYZ and 7 Fy v
Polygon LMNP. Then write the ratio of the 3

perimeter of Polygon WXYZ to the perimeter of
Polygon LMNP. How does this ratio compare to
the scale factor you found in Part A? 2 0 2

A
=

Y
><
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Study the example showing how to graph points on the
coordinate plane. Then solve problems 1-8.

Example

Graph and label each of the points on the coordinate plane.
A(5,3) B{—4, -2) C(-1,3) Do, -1 E4, —4)

Start from the origin for each point.

For point A: Move 5 units right and

3 units up. C

For point B: Move 4 units left and

2 units down.

- R b
P

h A
[

For point C: Move 1 unit left and ~§-4-3-2-1

3 units up. &

For point D: Move 1 unit down.

BoWow o
a3 &

For point £: Move 4 units right and
4 units down.

Point B in the exampile is in which quadrant?

Suppose both coordinates of a point are positive. In
which quadrant is the point located?

Without graphing, in which quadrant is F{—2, 4) located?
Explain.

When a point is on the y-axis, like point D in the
example, what do you know about the x-coordinate?
What is the y-coordinate when a point is on the x-axis?

©Curricutum Associates, LLC  Copying is not permitted.
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~

R e e 1 &
Quadrant .} oy
T L ;
i 2 o
'I._ B
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—4-322-1 0L 0102 3N
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Solve,

S

The table shows the locations of the exhibits at a science
museum. Use the coordinate plane and the table for -
problems 5-6.

— N W B

) H

Y
*

Flight 42 543D ? 12 3 4 5
Flectricity (—3,-3) 2
Space 24 3
Technology {5 2 4\1
Graph each exhibit at the science museum as a point on
the coordinate plane and label it with the first letter of
the exhibit name.
Describe how you graphed each exhibit.
Flight:
Electricity:
Space:
Technology:
Give the coordinates of the points that are on the v
coordinate plane at the right. 2
v W
Point U: b g v
2 o
PointV; i
< — P X
Point W' ~5-4-2-2-10] 12 3 4 5
Point X: i 2
. 1z
Point Y: “ T _____
Point Z:

Rachelle graphs a point at (4, 2). She says that she can move
her point four or more units to the left and two or mote
units down to arrive at a point in the third quadrant.

Is Rachelle correct? Explain why or why not.
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Study the example showing how to analyze a scatter plot.

Then solve problems 1-7.

Example

you notice?

The scatter plot represents data
comparing the incomes of a company’s
employees and the number of years of
experience they have. What trends do

There appears to be a positive
association between income and years
of experience because there is an
upward trend in the data. The income
increases as the number of years of
experience increases.

{thousands of dollars)

Years of Experience

10

Does the data seem to have a linear or non-linear
association? Explain how you know.

the data and might be considered an outlier?

Are there any points that lie outside the general trend of

. Who would you expect to have a higher income:
someone with 4 years of experience or 8 years? Why?

Would the gallons of gas a car uses and the distance it
travels have a positive or negative association? Explain.

gk?&ai?ng'ﬁéwy :

] -'scatter plot agrap__.
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Solve.

The scatter plot compares the ages of cars to their
values. Use the scatter plot for problems 5-6.

A
27

%4 @
21 -
®
181 o
15 4 ee
@
12 &
e ®
g 0,
6 ] ®
3_

Value of Car
(thousands of dollars)

O 32 4 & 8 1w

Age of Car (years)

Describe any trend that you see in the scatter plot.

What type of association does there appear to
be between the value of the car and the age of
the car? Explain.

Graph 16 points on the scatter plot at the right that show
no association between a person's age and how much
television they watch per week. Explain how you know
that there is no association.

2%3 Lesson 28 Scatter Plots
& &

Hours of TV Watched
a

Yy

O % w B H 50
Age lyears}
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7 @ the shoe size as the
8- @ e SR T R T
at core
7 s ° © ] o .l-__-qw_;;_..o_
8 6- e o Jincreasest.
3 G
s S ° e ™
£ 4 @ L
wn
3_
2_
1.,
O'Avi T T T T -
50 60 70 8 90
Math Quiz Score
A positive C none
B negative D non-linear

Use the scatter plot in problem 1 to

@Curriculum Associates, LLC  Copying is not permitted. Lesson 28 Scatter Plots

decide whether each statement is ‘What does each point |
True or False. “inthe scatferplot = -
. represent?
a. There are no outliers. D True D False \__ g e
o
b. There are 10 data points. D True D Faise
¢. The person with the highest
score has a size 7 shoe, El True D False
d. The scatter plot shows that
people with higher test
scores have smaller feet, D True |____| False
Describe a situation in which there would be a positive T T
association between two variables. “Whatdoesthe =
“graph of a positive .~
t‘ésﬁsé;iaﬁd,q look like?:
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Solve.

Use the scatter plot for problems 4-5.

A
x 90 ®
g &
$ . 80 ® 6
g8 701 e® oFf
g3
X § 60-
& & 50- % °®
-8 ®
& B 40+ °
SE 30 eg
= 204 e e
£ 104 ®
0 i E i I 1 I >
& 8§ 0 12 4 16
Age
Which point appears to be an outlier? (i T ?\
Remember 'Hmf an -
A (610 C (16,20 outlieris a data value. :
B (13,55) D (16,90 “that is much grgg_'i_‘gr
“or muehless. ‘i‘han
Gary chose A as the correct answer. Why is ‘most o.f ﬁ, e oﬂ, er

choice A incorrect?

| What type of association does there appear to be
between the variables? Explain.

._ If ﬂwere a frencl in:
: :'H-:e dafn?

1 Describe a situation in which there would be a negative G R
association between two variables. Whatdoesthe
“graph of 4 negahVe
; aysocmhan look lake? i

©Curriculum Asseciates, L1.C  Copying is not permitted.




Study the example showing how to analyze a blvarlate data
set in a scatter plot. Then solve problems 1-6.

LI e e A e A ¥ 2 S e g e i S

Example

The scatter plot represents data comparing the number of
Calofies burned and the number of minutes of exercise for
a group of fitness club members.

There appears to be a positive association between Calories
burned and minutes of exercise because there is an upward
trend in the data. The number of Calories burned increases
as the number of minutes of exercise increases.

Calories Burned

Sarah exercised for 30 minutes. Kari exercised long
enough to burmn 800 Calories. Who exercised for a longer
period of time, Sarah or Kari? Explain.

Y
LY
1,000

900
800
700
600
500
400
300
200
100

o

10 20 30 40 50 60 70 80 90100

Minutes of Exercise

Is there any point that lies outside the general trend of
the data and might be considered an outlier? Explain.

Describe a situation in which bivariate data would have a
negative association.

©@Curriculam Associates, LLC  Copying is not permitted.
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Solve,

The scatter plot compares game attendance and runs
scored by a softball team during one month. Use the
scatter plot for problems 4-5,

250
225
200 @
175 @ e (-
150 L] @
125 @ e @
100 @

75 @

50

25

Game Attendance

X
0 123 4567 8%10
Runs Scored

What type of association, if any, does there appear to be
between game attendance and the number of runs
scored? Explain.

Molly says that game attendance increases as the
number of runs scored increases. Is Molly correct?
Explain why or why not,

One of the variables in a bivariate data set is driving
time. Write a possible second variable that would

result in a situation that has each of the following types
of association between the variables.

Positive association;

Negative association:
No association:
B304  Lesson29 Scatter Plots and Linear Models ©Curriculum Associates, LLC  Copying is not permitted.
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Study the example problem showing how to evaluate a
trend line. Then solve problems 1-5.

Example

The trend lines that Carlota and Julie drew for a data set are
shown. Whose line seems to be a better fit for the data?

y Carlota’s Trend Line y Julie’s Trend Line

A A i

6 6

5@ & 5@ &

4 4

3 3 . 3 p’

2 = 2 ®

1 ® 1 @ &>
AN N NN

O 12345672889 6 123 456789

Carlota’s line goes through two of the data points. There are
the same number of data points above and below her line.
Julie’s line does not go through any of the data points. There
are five values below the line and only one above it. So
Carlota’s line seems to be a better fit for the data.

What type of association does there appear to be
between the variables in the data in the example?
Explain your reasoning.

¥4 Emilio says that for a line to be a good fit for the data in
a scatter plot, there should be roughly the same number
of points above and below the line . Also you should be
able to pair a point above the line with one below the
line so that they are roughly the same distance from the
line. Do you agree? Explain.
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Solve,

Which line is a better fit for the data in the scatter plot?

Explain your choice.
Trend Line A Trend Line B
¥ .
61& 8 A e
6 @
5 & ,// 5 ® //
4 e 4 ]
3 [l @t @i 3|0
2t-@ // 2 ,.s/
1 bt 1
L™
1 » iy

X t
O 1234567889 O 1234567889

Consider the scatter plot shown. Draw a line that you YR
think best fits the data. Describe the spread of the data 6l-0—®
and any clusters or outliers that you notice. 39989
49 @@
3 e
2 e
1
O 123456788
What does it mean if the trend line for a scatter plot
of data is a horizontal line? Give an example of two
variables that would have this type of association.
"m;é?o
- 3@% Lesson 29 Scatter Plots and Linear Models ©Curriculum Associates, LLC  Copying is not permitted.
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A

Howdeyoud

awa

rem ¢ % trend line?
5 5
a0 4 s
3 \*\\ 3
2 PR Bhe N 2 PO B
! i ! i
> E . » X
0O 12345678 0 12345678
y y
AL D A
N £
51— 5l
4 & 4 e
3 l\\\ﬁ 3 T (-]
2 &N 2
1 ? \“;\\ 1 \D\?\""?\\

C.

Data points that lie above

the trend line should be

about the same distance as

data points below the line. D True

A line of best fit must go
through at least one data
point,

D True

A trend line is a good fit for
the data if all of the data
points are fairly dose to it.

D True
D True

A trend line must go
through the origin.

Tell whether each statement is True or False.

D False
D False

D False
D Faise

: _dVe.r_a'ge':Vq_] vesofall |
cofthe data. - g
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Solve,

The scatter plot compares ten daily high temperatures
and the number of snow cones sold. jon drew the
following trend line to represent the data,

Jon's Trend Line
Y

A
-'-g 60 ‘c
v 50 ) @
g 40 ¢
= __,,.--"“""w
£ 200—|-®
%108 .-
A, e
O 858587 83899005192
High Temperature {°F)

: SWhen cfraw:ng a’ -
“trend line, be carefui
“notio letan ouﬂ:er :

“pull the frend ime in =
) _'i'i'S' Anrechon. '

Mary thinks there is a better trend line, What might she be thinking?

Draw a trend line for each of the following
scatterplots. If the data has no association, write

]
'
'
'
!
'

0 12345¢67 8

3@8 Lesson 29 Scatter Plots and Linear Models

3*}, e

e

“Lookforatrendin
each of “I’he s‘ca‘H‘er Ty

[

no association.
Scatter Plot E Scatter Plot F

y y

A A
&l ‘ ‘ [ °
5 PO 5i-8-9——@
2@ 2 - .

1 1 @

» ¥ : il X

>
12345678
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Study the example problem showing how to fit a trend line
to data in a scatter plot. Then solve problems 1-6.

Exampils

The trend lines that Robert and Michael drew for the set
§ of data are shown, Whose line seems to be a better fit for

the data?

Robert'’s Trend Line Michael’s Trend Line
y Y
A : A 4
6 ® 6 fé/

W
5 o | O 5 'y i
4 @ 4 @ o
3 e 3 bt
74 o
Pl / 2%—6
Lh i 1
H B x e X

O 1234567809 0 1234567829

Robert’s line goes through one of the data points, and all of
the other data points lie above his fine. Michael’s line goes
through two of the data points. There are the same number
of data points above and below his line and they appear to
be about the same distance away from his line. So Michael's
line seems to be a better fit for the data.

| Inthe example, is there an assodiation between the
variables in the data? If so, what type of association?

i Sheldon draws a trend line for the data in the example
that goes through the points {1, 2} and (8, 6. is his trend
line a better fit for the data than Michael’s? Explain.
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Solve,

Draw a trend line for the data shown in the scatter plot.

Explain your reasoning for placing the line where you
did in problem 3.

The scatter plot at the right compares the daily high
temperature and the number of comic books sold.
Explain why a trend line is not appropriate for the data,

% Tiana drew the trend line shown to represent the data

in the scatter plot. Explain Tiana's error. Draw a trend line
that better fits the data, Explain why your line is a better
fit for the data.

Y
A
9
8 ....,.Q
7}
& :
@ !
5 G
4 @
3
2 @
1
P X
0 123 4567 89%1W0MH
¥
- A {
B &0 B & FY
3 50} @ @
g 40 @ &
0 U S-S S,
RN AR NN
G 10888
H H i 3 3
O 35 40 45 50 55 60 65 70
High Temperature {°F)
Y
Al
7}-&--@
¢ ¢
4 S @
3
2
11-e
X

0 123 45678%9Y
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Study the example showing how to write an equation for
the line of best fit to analyze data. Then solve problems 1-6.

. Example
Devon is practicing for a spelling competition. The scatter
plot at the right compares his study time and the number

of words he spelled correctly. He drew a line to fit the data.
Write an equation for the line.

You can write an equation of the formy = mx + b. The

points (2, 15} and (3, 21) are on the line. Use the points to find

Substitute the slope into the equation to gety = 6x + b. Use
this equation and either one of the points, say (2, 15), to find
the y-intercept.

15=6(2)+b
3=5b

The equation of the lineis y == 6x + 3,

st

¥

Number of Words

Spelied Corractly
P I L R
[P T TV T e S X T R O

]

Spelling Competition

A

pa

i
|

T2 3 4
Study Time {(hours)

What do the slope and y-intercept mean as they
relate to the study time and the number of words
spelled correctly?

r
>

Use the graph in the example fo estimate how many
words Devon will spell correctly if he studies for

4.5 hours. Then use the equation to estimate how many
words he will spell correctly if he studies for 4.5 hours.
How do the estimates compare?
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Solve.,

Use the scatter plot and the information below for

problems 3-6. Research Reports

S

=,
T

The scatter plot shows the results of a survey of students
about how long it took them to write their most recent
research report.

— = 3

O N OO NS

Write an equation for the line of best fit,

Time to Write (hours)

..;1: d :

Bl x
1234567829
Number of Pages

Show your work.

Solution:

What does the slope tell you about how the time to
write a research report changes as the number of
pages increases?

Micah's next research report needs to be 9 pages long.
Use your equation to find out how long it will take Micah
to write the report.

Rita spent 10 hours writing a research report. Use two
different methods to estimate the number of pages in
her report. Explain your methods.

%
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Solve the problems.

—_

1.5

37

4.8

55

7.25

8.75

9.5

i3

wWimiovliwmjwirk il

13.5

-t
o

14.25

A y=3x+15
B y= —x+15

that answer?

Weight (b}

15.0
13.5
12.0
10.5
9.0
75
6.0
45
3.0

1.5

0

The table and scatter plot show the total weight for
quart containers of strawberries at Marty's Market.

v

?

3 X
23456782910

Number of Containers

The points (3, 5.5} and (9, 13.5} lie on the line of best fit.
Which of the following is the equation of the line?

C y&%x—ts

D y=-

Yoshi chose A as the correct answer. How did he get

Whatisthe
y-intercept, Sko!ﬂn by
fhe‘f‘rendime el

Show your work.

Solution:

Estimate the weight of 15 containers of strawberries at
Marty's Market in problem 1.

-_Use 'qu equai’ron S
from ProHEm 1.The
number of confamer;

i ‘f‘he x-'vafue -

©Carriculwn Associates, LLC  Copying is not permitted.
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Solve,

The scatter plot compares y o T \
10 ' When mferpre'!‘mg

the s‘?ope, think. abau‘!‘
the meamng of Qi
change myfor each
_ one_una‘l'_n_nc_rea;e in x, -

the number of mistakes
Koby makes playing a
song on his trumpet and
the number of hours he
practices the song. A line
of best fit is shown.

Number of Mistakes
- W P U h

¢
?

1 2 3 4
Hours of Practice

P~ )

O

Tell whether each statement is True or False.

a. The equation of the line of bestfitisy = x + 6. D True [:I Faise

b. The slope means that you can expect the number
of mistakes Koby makes to decrease by 1 for
every 1-hour increase in pracfice time. D True I:l False

<. The y-intercept means that you can expect that
even if Koby does not practice he would only make

about 6 mistakes. D True D False
| The scatter plot compares ¥
the number of oranges N 40&
remaining at a fruit stand to % 3519
theamount of time thatthe £ § zg e
stand has been open. 222 ¢ !
= £ @
Z'% 15
E 10
® 5
0 1234586 "
Hours Open

Draw a line of best fit for the scatter plot. Write an
equation to represent the line. How many hours after
opening would you predict that the fruit stand will sell
out of oranges?
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Study the example showing how to express aratioas a
percent, Then solve problems 1-6.

Vi T — - R e e

Example

Team A won 18 out of the 25 games they played. Team B
won 15 out of the 20 games they played. Which team
won a greater percent of the games they played?

You can write ratios that compare the number of games
won to the total number of games played by each team:

.18 .15
Team A: 5% Team B: 30

Next, make a table of equivalent ratios.

Team A Team B

Team A 1872 72% Team B: % =75 o 75%

Compare the percents: 75% > 72%. So Team Bwon a
greater percent of the games they played.

' Explain why the example showed how to find ratios of
the number of wins out of 100 games played.

7= Suppose Team C won 32 out of 50 games, What percent
of the games they played did they win? How does this
compare to the percents for Teams A and B?
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Solve.

5l Complete the tables and equations to write each ratio

as a percent.
d. 8 bo 23
23 50 100 50 100
1-=-rw 8-Ll-r
25 100 50 100

In Walter's class, 14 of the 25 students ride the bus, In
Sasha’s class, 11 of the 20 students ride the bus. Which
class has a greater percent of students who ride the
bus? Explain.

At Anthony’s school, the ratio of girls to total students

is 250, At Theresa’s school, the ratio of girls to total

500°
students is g%g. Explain how you can find percents for

each of the ratios. Then tell whose school has a greater

percent of girls.

Ernma’s two methods for writing the ratio fﬁ asa

percent are shown at the right. Use one of Emma’s

methods to write the ratio % as a percent. Compare

your percent to 22.5%.

©Cuorrculum Associates, LLC  Copying is not permitted,




Study the example showing how to use the datain a
two-way table to make a two-way relative frequency table.
Then solve problems 1-6.

Example
A group of 118 students in Vermont were asked whether
they prefer skiing or sledding in the winter. The results are

4 shown below. Make a relative frequency table to show the
‘ preference based on gender.

Find the percent of the giris and
: the percent of the boys who

+  picked each activity. For example, :
of the 60 girls, 34 picked skiing
31 = 34+ 60 = 0.567 = 56.7%.

About 56.7% of the girls preferred skiing to sledding.

In the example, were more girls or boys surveyed? How
many more?

Which activity did a greater percent of the girls choose?
Which activity did a greater percent of the boys choose?

Vocabulary

1 categorical data dat
© sets that are described
by categories, sucha

Does the data in the example support the idea that both
the girls and the boys prefer skiing to sledding? Explain.
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Sclve,

Use the information and the table below for problems 4-6.

The two-way table shows the results of a survey that asked
students whether they watch animated movies.

Complete the relative frequency table to show the
percent, to the nearest tenth, of 2ach age group that do
and do not watch animated movies.

Use the relative frequency table in problem 4 to
determine if there is an association between age and
watching animated movies, Explain.

| Instead of finding the relative frequendies based on age
group, Ahanti found the relative frequencies based on
whether they watch animated movies or not. Complete
Ahanti’s table. Can you draw the same conclusions using
Ahanti's table that you drew in problem 57 Explain.
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Solve the problems.

Use the information below and the table for problems 1-3.

The two-way table shows the results of a survey that asked
students whether or not they were going to the school play.

How many students said they were planning to go to

the play? Circle the letter of the correct answer. ﬁ :w"‘“h‘ the es _“’"”
ot the da‘l‘a
A 158 students C 257 students g Ye,— mw?

B 216 students D 473 students

Robin chose € as the correct answer. How did she get
that answer?

Compilete the relative frequency table to show the g
percent of Yes and No responses for each grade fevel, 2 5”""’“ Y"" C"’”Pu“fe

~the percents for each .
fco]umn cr‘for each

Do you think that there is an association between grade &t T
level and going to the play? Explain. = w}'ah"e ﬁ’e :
; differences inthe
“percentfor each

: gmde }eVe!?

@Curriculum Associates, LLC  Copying is not permitted. Lesson 31 Categorical Data in Frequency Tables 323 m; b

""‘"“’"’«:

; &:@3\ $r




Solve,

The two-way table shows the results of a survey that
asked students about their favorite fruit.

In‘each statement, it
“is importantto figure -
‘outwhatis the fotal -

and whatis the part. -

Tell whether each statement is True or False,

a. Ofthe girls surveyed,
36% prefer apples. D True D False

b. Ofthose surveyed who
prefer bananas, about 44%

were boys. D True D False
<. The total number of girls
surveyed is 50, D True EI False

d. Of all students surveyed,
about 25% prefer bananas. [:I True EI False

Ahmid used the total number of people who bought a T )
hot dog and the total number of people who did not ' :W.‘?“”'P?”_ cent ?_?c- G
buy a hot dog to make the relative frequency table j. {’?; P!?.ff)_fk; t;f fiqg
below. Does it provide evidence that there is an _ane.a ;;:‘ T ;‘;E o
association between buying a hot dog and buying a pereentbuy a hot dog
butnota drink? .
drink at a baseball game? Explain why or why not. S T
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